MV LINE

cmatic I

TTTTTTTTTTTTTTTTT Function Fittings




BHRE

LfC= HERTR L CONTROLLED
Meter out flow control ﬁ FLOW IN

IN HRRE
FREE FLOW
LN = o ERTR | BRRE
Meter in flow control N FREE FLOW
\
BHRE IN
CONTROLLED FLOW
. BHRE
../B=  REREFT
I ﬁéf CONTROLLED
Bidirectional flow control
| FLOW IN
IN BHRE
CONTROLLED FLOW

FTHRAATFETSEDRE  BENALE AU INETRAMNEDT They can adjust the flow in a pneumatic circuit. Depending on the flow control used, the set-

FR, HFEaPRRIEESEHTREEENRT, ting can be made both ways (Bidirectional Flow Control), or just one way (Unidirectional Flow
Control). The Unidirectional Flow Control is particularly used to adjust the speed of pneumatic
cylinders.

258



TR Flow Control

N Gl = o] 7@
Body Needle Cartridge Seals Gasket
4R BARUNI EN 12164 CWB14N NBR PAG
Brass UNI EN 12164 CW614N Nickel plated NBR PAB

Sl

-20°C - 70°C 0-10 bar

e D1 L1t L2 LsmAx CH g 62
M 1500 M5 M5x08 4 16 % 8 5
150018 G1/8 5 24 32 14 17
] 150014 G1/4 6.5 275 40 17 33
- 1500 38 G3/8 7 31 50 20 59
- 1500 12 G1/2 9 38 61 26 107
1 =
D1 /C N ../B
AR
== i ﬁ%,
\ \ \
FARME DATA SHEET
BIHEZEER Recommended tubings:
BURF ST REMEENZELER, according to the fitting connected to the flow control.
RNASE ) Application field:
ERA T EREBLENSHRE. pneumatic installations fed with filtered, lubricated air.

259



AT A TR

Flow Control with Handwheel

.2 | 3 | 4 ]| 5 | 6 |
Ak iR HE4R Ef B E e
Body Needle Handwheel Cartridge Seals Gasket
4% 4R FARUNI EN 12164 CWB14N NBR PAB
Brass UNI EN 12164 CW614N Nickel plated NBR PA6
@ E“EFHQ(\
-20°C - 70°C 0-10 bar
W et D1 L1 L2 L3k CH g&d
16 00 M5 M5x08 4 16 385 8 6
1600 18 G1/8 5 24 42.5 14 21
CH 16 00 14 G1/4 6.5 275 51 17 35
o 16 00 38 G3/8 7 31 63 20 73
16 00 12 G1/2 9 38 81 26 136
|
—_
3 \ . N /B
D1 4 |
AR : ir @— £ |
\ 1
HARAE DATA SHEET
BIEEER Recommended tubings:
BUR T ST REMEENZELER, according to the fitting connected to the flow control.
R4, Application field:

ERENNIENEBLEN S RE.

pneumatic installations fed with filtered, lubricated air.

260



RO T RE Male Flow Control

4 ] 2 | 3 ([ 4 | 5
Ak ! E-3-) EHE b2 7@
Body Needle Cartridge Seals Banjo Ring Gasket

FE AR EHUNI EN 12164 CWBT4N NBR RARFIHESK PAG
Brass UNI EN 12164 CW614N Nickel plated NBR RA line standard fittings PAG

Sl

i\\:ﬁﬁ?@
-20°C-70°C  0-10 bar P=6bar-Ap=1 bar
1600 1
1500
1400
1300

. HA 1200

1100

B 1000
4 ] = 90

800
700
600
500
400

300
200

I@ 100

R & [NI/min]

L RERAREE

L4

B3] D1 D2 L1 L2 L3gkx L4 CH g&d

L% 17 00 M5 M5x0.8 Mb5x08 4 16 25 11 8 10

170018 G1/8 G1/8 5 24 32 16 14 32
T 170014 G1/4 G1/4 6.5 215 40 22 17 58
{ 1700 38 G3/8 G3/8 7 31 50 26 20 98

170012 G1/2 G1/2 9 38 61 32 26 173

D1 .../C

AARA : Q @ ﬁ%’

>
&

TRERRRE , R TREM.

The banjo ring no longer swivel after flow control installation.

Ri Application field:
=R Z N ENEBL BN S RE. pneumatic installations fed with filtered, lubricated air.

261




HIRSUE O M P T REEN TR Male Flow Control with Handwheel
| 2 | 3 | 4 | 5 | 6 | 7
£ B4 =

e % w

Body Needle Handwheel Cartridge Seals Banjo Ring Gasket
SR EAUNI EN 12164 CWB14N NBR RARR Bk PAG
NBR RA line standard fittings PAG

Brass UNI EN 12164 CW614N Nickel plated

-20°C - 70°C 0-10 bar

P=6bar- Ap=1bar

1600

& [NI/min]

LERERAY:E

L4 »
Egii]| D1 D2 L1 L2 L3gx L4 CH g&d
(I 4000 M5 M5x08  M508 4 16 385 1 8 12
400018 G1/8 G1/8 5 24 425 16 14 37
400014 G1/4 G1/4 6.5 215 51 22 17 65
400038 G3/8 G3/8 7 31 63 26 20 12
CH 400012 G1/2 G1/2 9 38 81 32 26 202
] ] /C N /B
- \\L | j AR @ SJ ST
\ \ \

D1

TRAZERE , EBTTEME,

The banjo ring no longer swivel after flow control installation.

MR Application field:
=R LN IENEBL BN S RE. pneumatic installations fed with filtered, lubricated air.

262



R 7T VB R A T R

Brass Flow Control with Swivelling Push-in Fitting

A4k iR E-3c) HHE 2
Body Needle Cartridge Seals Banjo Ring
SR EBUNI EN 12164 CWB14N NBR MAR BRI K
Brass UNI EN 12164 CW614N Nickel plated NBR MA line push-in fittings
NELRLA
3
atM
-20°C - 70°C 0-10 bar
P=6bar- Ap=1bar
220 1100 7
210 3/8
281/8 1
200 A 1000
.—n 180 1 900 A
160 800 A
n n 140 A 700 A
= 120 A 600 A
£ ]
= 100 A 500 A
Inllﬂ:ﬂ | /
K e 400 /|
60 1 300 1
40 200 1 26 1/4
207 100 ‘
n [ s e e e L e e e e (U s e e L e e L
0 2 4 6 8 10 12 0 2 4 6 8 0 12
W ER
u e E®De D1 D2 L1t L2 Lafh L4 CH g480
18 04 M5 4 M5x0.8 9 4 1.5 255 18 6 12
180418 4 G1/8 9 5 15.5 32 195 9 29
CH 18 06 M5 6 M5x0.8 12 4 1.5 25.5 215 6 15.5
180618 6 G1/8 12 5 15.5 32 22 9 27
1806 14 6 G1/4 12 6.5 17.5 40 235 10 49
] /_ I 180818 8 G1/8 14 5 15.5 32 225 9 31
b 2 180814 8 G1/4 14 6.5 175 40 24 10 49
1808 38 8 G3/8 14 9 22 50 26 14 89
B 181014 10 G1/4 16 6.5 175 40 26.5 10 53
har] 181038 10 G3/8 16 9 22 50 28 14 86
D1 /C LN /B
AR A L 4|
I [ I
TRAZER , ERAAG,
& The banjo ring swivels also after flow control installation.
AR DATA SHEET
B EER Recommended tubings:
PA11, PA12, PA6, PURSEL(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
R s, Application field:

ERETHRNEBELEN S RE.

pneumatic installations fed with filtered, lubricated air.

263




8 1 BT 8 e AR 4 =X 5T TR AR Brass Flow Control with Swivelling Push-in Fitting and Handwheel

.2 | 3 ] 4 ] 5 ]| 6 |
NN iR k| = T E B2
Body Needle Handwheel Cartridge Seals Banjo Ring
HEAREMUNI EN 12164 CWB14N NBR MAR 5 R G HEX
Brass UNI EN 12164 CW614N Nickel plated NBR MA line push-in fittings

NELRLA

P=6bar- Ap=1bar
-20°C - 70°C 0-10 bar

220 7 1100 Co
9103/8 | |
08 1/8 1 /8
200 1 1000
.—ﬂ 180 A 900
160 A 800
E 140 A 700 A
= 120 600
£ ]
n—. Z 100 500
-—H I ]
= 30 400 A
60 1 300 1
40 1 200 06 1/4
201 100
P "+ 0 — 7T
0 2 4 6 8 10 12 0 2 4 6 8 10 12
n—. BB
et EEDe D1 D2 L1 L2 L3gk L4 CH g&d
L4 4104 M5 4 M5x0.8 9 4 15 39 18 6 13
410418 4 G1/8 9 5 155 42 195 9 32
m 4106 M5 6 M5x08 12 4 15 39 215 6 169
410618 6 G1/8 12 5 155 42 22 9 34
410614 6 G1/4 12 6.5 175 51 235 10 54
( ) 410818 8 G1/8 14 5 155 42 225 9 35
CH 410814 8 G1/4 14 6.5 175 51 24 10 55
- ! 410838 8 G3/8 14 9 2 63 26 14 99
- - 411014 10 G1/4 16 6.5 175 51 265 10 62
El o 411038 10 G3/8 16 9 2 63 28 14 105
e [=)
S /C LN /B

o1 AR @ f@ ﬁ%,

TRRZERE , EBTRER.

The banjo ring swivels also after flow control installation.

HARAIE DATA SHEET

BIEEER Recommended tubings:

PA11, PA12, PA6, PUREHEE(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
R4 Application field:
ZERETTRAEBLENSHRE, pneumatic installations fed with filtered, lubricated air.

264



A8 &) R4 = 5 R Flow Control with Swivelling Push-on Fitting

4 J/ 2 ] 3 | 4 |
A4k ! EH BRHE 2N
Body Needle Cartridge Seals Banjo Ring
SR EMUNI EN 12164 CW614N NBR MCR Bz sk
Brass UNI EN 12164 CW614N Nickel plated NBR MC line push-on fittings

S, IUO

NELRLA
a C P=6bar- Ap=1bar

20°C-70°C  0-10bar 250 1 C 700 Fe :
1 R 210 3/8 |

] 600
200 1 550
n 500
450
_ R0 400
n =
... i £ 350
=
® 100 30
s 250
200
50 4 150
100
50
n—' 1 3 5 7 9 I 13 0 2 4 6 8 0 12 14
T & B
B3] BEEDe D1 D2 L1 L2 L3gk L4 CH g&d
u 20 04 M5 4-25 M5x0.8 4 11.5 255 15.5 6 7 "
20 05 M5 5-3 M5x08 4 11.5 255 19 6 8 115
200518 5-3 G1/8 5 155 32 25 9 12 33
- 2006M5 64 M5x0.8 4 M5 265 19 6 9 12
CH1 ] 200618 6-4 G1/8 5 155 32 25 9 12 88}
o 2006 14 6-4 G1/4 6.5 17.5 40 26.5 10 12 52
) bl 200818 8-6 G1/8 5 15.5 32 25 9 14 33
a 200814 8-6 G1/4 6.5 17.5 40 275 10 14 54
2008 38 8-6 G3/8 9 22 50 295 14 14 90
N — 201014 10-8 G1/4 6.5 17.5 40 285 10 16 56
_ 201038 10-8 G3/8 9 22 50 30.5 14 16 92
D1
../C N ../B
A A RRAS =£ = 4|
\ \ \
TRERER , EHRTEG,
(- The banjo ring swivels also after flow control installation.
AR DATA SHEET
BIHEZEER Recommended tubings:
PA11, PA12, PA6, PURERE(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
R, Application field:
AT SENEBL BN SRS pneumatic installations fed with filtered, lubricated air.

265



4 %1 AT [ AR 3 5T TR AR Brass Flow Control with Swivelling Push-on Fitting and Handwheel

| .2 |l 3 | 4 | 5 ] 6 |
& iR HE4 EfH HEE w

Body Needle Handwheel Cartridge Seals Banjo Ringn

AR EHHUNI EN 12164 CWB14N NBR MCRFIREHE K

Brass UNI EN 12164 CW614N Nickel plated NBR MC line push-on fittings

P=6bar- Ap="1bar

-20°C - 70°C 0-10 bar 250 1 Do 700 3o 103/8 ,,,,,,,,,,,,,,,,, ;
0818/ | 6w 9 |
] {600
20 50
3] ] 06/1/8 | |
1 {450
= 3
£ ] L350
=
] | 300
B 100 3
s ] | 250
[ 1] 5 | ] o41/8 |
] ; 200
] o4 N5 |
50 4 150
1 100
05 M5 50
1 3 5 7 9 1 13 0 2 4 6 8 0 12 14
AT EER
et EEDe D1 L1 L2 L3gk L4 CH1 CH2 g&d
4 42 04 M5 4-25 M5x08 4 11.5 39 15.5 6 7 12
42 05 M5 5-3 M5x0.8 4 11.5 39 19 6 8 13
| HHH | 420518 5-3 G1/8 5 155 425 25 9 12 37
42 06 M5 6-4 M5x0.8 4 1.5 39 19 6 9 14
4206 18 6-4 G1/8 5 15.5 425 25 9 12 37
1 CH2 420614 6-4 G1/4 6.5 17.5 51 26.5 10 12 61
% 420818 8-6 G1/8 5 15.5 425 25 9 14 38
2 ] b 420814 8-6 G1/4 6.5 17.5 51 215 10 14 60
< 4208 38 8-6 G3/8 9 22 72 295 14 14 105
421014 10-8 G1/4 6.5 17.5 51 285 10 16 62
| — 421038 10-8 G3/8 9 22 72 305 14 16 108
5 ‘ .../C N ../B
ol TRRA - £ £ 2|
[
TRERER , EHRTAR
The banjo ring swivels also after flow control installation.
DATA SHEET
HEARAIE

Recommended tubings:
BIMEZEER . PA11, PA12, PAB, Polyurethane PU (98 Shore A)
PA11, PA12, PA6, PUREE(98 Shore A)
Application field:
B AU - pneumatic installations fed with filtered, lubricated air.
ERENTRADBLEH SR,

266



BRIAAERERT HRE Flow Control with Swivelling Acetal Push-in Fitting

37N iR = B E E2

Body Needle Cartridge Seals Banjo Ring

B4R FEA4AUNI EN 12164 CWE14N NBR MBZR 5l R i $8 3k
Brass UNI EN 12164 CW614N Nickel plated NBR MB line push-in fittings

Sl

NELRLA
t P=6bar- Ap=1bar

-20°C-70°C 0-10 bar 200 1 1100 1 |
1 T 0103/8
L1 pomeeee §
] 900 |
n 150 ' 800 4
700 A
[ [ 4 | £ 600
Sw+4 f 0 S
= 500 -
A0 N
5 400 -
50 30 1
200 A
] 061/4
o4 M5 100
3] 0 2 4 6 8 10 12 0 2 4 6 8 10 12
B EER
B3] BEEDe D1 D2 L1 L2 L3gkx L4 CH g&d
L4
3804M5 4 M5x0.8 97 4 15 255 17 6 7
380418 4 G1/8 97 5 155 32 185 9 19
CH 3806 M5 6 M5x0.8 12 4 15 255 205 6 8
380618 6 G1/8 12 5 155 32 22 9 16
. Q 380614 6 G1/4 12 6.5 175 40 235 10 32
- W e 380818 8 G1/8 14 5 155 2 25 9 16
380814 8 G1/4 14 6.5 175 40 24 10 32
e 380838 8 G3/8 14 9 22 50 26 14 59
= ‘ 381014 10 G1/4 16 6.5 175 40 265 10 33
b1 381038 10 G3/8 16 9 2 50 28 14 60
../C AN .../B

] FARRAS 4 4 |
%] bl a

TRARERE , ERTER[,

The banjo ring swivels also after flow control installation.

AR DATA SHEET

BWAEEER Recommended tubings:

PA11, PA12, PA6, PURSHER(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
NAYE Application field:
ZREATTRAEBLENSHRE, pneumatic installations fed with filtered, lubricated air.

267



R ARRER T RE Flow Control with Swivelling Acetal Push-in Fitting and Handwheel

.2 ({ 3 | 4 | 5 ] 6 |
iR k| E-3c] B E 2N

Body Needle Handwheel Cartridge Seals Banjo Ring

SE4R EAFUNI EN 12164 CWB14N NBR MBXR 5l R i 3k

Brass UNI EN 12164 CW614N Nickel plated NBR MB line push-in fittings

P =6 bar- Ap=1 bar
-20°C - 70°C 0-10 bar

200 7 1100 1
1000 A
3 ] ] 900 -
150 : 800 4
... A o |
= 600 -
£ 100 ]
= 500
H .. B3 8 _
5 400 1-
50 | 300 1
1 200 A
] 061/4
a4 M5 100 A
0 T T T T T 0 T T T T T T
0 2 4 6 8 10 12 0O 2 4 6 8 10 12
n—o BT B
i) ERQe D1 D2 L1 L2 L3gA L4 CH g&d
L4
3604M5 4 M5x08 97 4 15 39 17 6 9
(m 360418 4 G1/8 97 5 155 42 185 9 21
3606 M5 6 M5x0.8 12 4 15 39 205 6 95
360618 6 G1/8 12 5 155 42 22 9 22
ok ) 360614 6 G1/4 12 6.5 175 51 235 10 38
||| 360818 8 G1/8 14 5 155 02 225 9 22
3 - 360814 8 G1/4 14 6.5 175 51 24 10 38
/ - e 360838 8 G3/8 14 9 22 63 26 14 72
b2 361014 10 G1/4 16 6.5 175 51 26 10 39
o 361038 10 G3/8 16 2 63 28 14 74
5 .../C .../B

9
o AR A ﬁf ﬁf £ |
\

TRERERE , ERTEM@,

The banjo ring swivels also after flow control installation.

HARAE DATA SHEET

BIAEEER Recommended tubings:

PA11, PA12, PA6, PURSES (98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
RASE Application field:
ERETTRAEBLENSHRE, pneumatic installations fed with filtered, lubricated air.

268



BRURFER T RE Flow Control with Acetal Push-in Fitting

Ak i EfH T E 2N #
Body Needle Cartridge Seals Banjo Ring Gaske
B4R EAFUNI EN 12164 CWB14N NBR MBXR 5l R i 8 3k PAG
Brass UNI EN 12164 CW614N Nickel plated NBR MB line push-in fittings PAB

Sl

\\EFRE@
@ tM P=6bar- Ap=1 bar

-20°C - 70°C 0-10 bar

220 1 . 1200 P
oo o T o103/8
II =
i}
B
B3] BEEDe D1 D2 L1 L2 L3gkx L4 CH g&d
L4 3904 M5 4 M5x0.8 9.7 4 16 25 17 8 7
390418 4 G1/8 9.7 5 24 32 18.5 14 19
3906 M5 6 M5x08 12 4 16 25 20.5 8 8
CH 390618 6 G1/8 12 5 24 32 22 14 22
] 390614 6 G1/4 12 6.5 215 40 235 17 38
] 13 390818 8 G1/8 14 5 24 32 225 14 22
§ B8 390814 8 G1/4 14 6.5 215 40 24 17 38
3908 38 8 G3/8 14 7 31 50 26 20 67
_I ‘ ‘ ‘ 391014 10 G1/4 16 6.5 275 40 26 17 39
- I 391038 10 G3/8 16 7 31 50 28 20 68
D1 /C N .../B
TR : - £ ﬁgf
\ \ \
TRAZRER , ERFAATREM,
The banjo ring no longer swivel after flow control installation.
AR DATA SHEET
BIHEZEER Recommended tubings:
PA11, PA12, PA6., PURERE(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
R4, Application field:
AT SENEBL BN SRS pneumatic installations fed with filtered, lubricated air.

269



BERURR R E Flow Control with Acetal Push-in Fitting and Handwheel

| .2 | 3 ] 4 ]| 5 | 6 | 7 |
i k| E-3c) R E 2N 2E

Body Needle Handwheel Cartridge Seals Banjo Ring Gasket

HEEE BEATUNI EN 12164 CWB14N NBR MBZ 5l Rk PA6

Brass UNI EN 12164 CW614N Nickel plated NBR MB line push-in fittings PAB

@\EFR{:&

P =6 bar- Ap=1 bar

-20°C - 70°C 0-10 bar

220 1 . 1200
200
n 180 A 1000
160 -
n 10 800
= 120 A
£ 600
£ 100 A
H =
n DS
400
200
0

7] RN

u Eid EEGe D1 D2 L1 L2 L3k L4 CH g &0
3704M5 4 M5x08 9.7 4 16 385 17 8 8
NI 370418 4 G138 97 5 24 025 185 14 2
3706 M5 6 M5x0.8 12 4 16 385 205 8 g
370618 6 G812 5 2% a5 ) 14 2
cH 370614 6 G4 12 65 275 51 235 17 44
o . 370818 8 Gs 14 5 2 5 25 14 25
370814 8 Gls 14 65 275 51 2 17 48
5 o 370838 8 Gs 14 7 31 63 2 20 81
3 |- 371014 10 G4 16 65 215 51 26 17 4
‘ ‘ i 371038 10 G3/8 16 7 31 63 28 20 82
JJ ./C N /B
D1

A FRRA Q @ ﬁ%’

TRERERE , ERTAEGE,

The banjo ring no longer swivel after flow control installation.

HARAE DATA SHEET

BIEEER Recommended tubings:

PA11, PA12, PA6, PURSER(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)

R A4, Application field:
ZRETTRAEBLENSHRE, pneumatic installations fed with filtered, lubricated air.

270



SEFFx

Pneumatic Switch

N FR HHE B BE
Body Handle Seals Spring Gasket
AR EARUNI EN 12164 CWB14N NBR AISI 30254 PA6
Brass UNI EN 12164 CW614N Nickel plated NBR Stainless Steel AIS| 302 PAG
\\EFRE@
5
@ ™
-0°C-70°C & K15 bar
2/2
3/2
P (6 bar - Ap = 1bar)

n—. Flow rate
.—ﬂ 1/8 235 NL/min

1/4 265 NL/min
et D1 L1 L2 L3 CH1 CH2 g 6D
ch 460018 G186 16 55 14 15 %5
o 460014 G4 8 19 60 17 15 #
« @]
3 AT =
PV
g AL =

D1

XA B M R R RGN A RNBEEEE (F/ix )  B=BRM=SB®MA The MV 46 is a pneumatic switch. It is available in a 2/2 and 3/2-way version. The goal of

M, BIEASER , BT AR EIEA  EATUETHS. the 2/2 way switch is to cut off the flow in the circuit whenever needed by simply operating
the lever. The 3/2 way valve cuts off the flow and vents to atmosphere the terminal part of
the circuit.

HARAE DATA SHEET

BIEEER Recommended tubings:

BURT S HRMEER L RE, according to the fitting connected to the valve.

R4, ) Application field:

ERA T EREBLENSHRE. pneumatic installations fed with filtered, lubricated air.

288



SRS HFFx In-Line Pneumatic Switch

Ak Frx B =E S SS

Body Pneumatic switch Spring Seals Push-in fittings
POM HREMUNI EN 12164 AISI 302454 NBR MBR B Rk
POM CW614N Stainless Steel AlSI 302 NBR MB line push-in fittings

Brass UNI EN 12164 CW614N Nickel plated

i\\:‘;—m&c

Sl

| @

-10°C-70°C & K15 bar

i (6 bar - Ap = 1bar)
Flow rate

n 26 185 NL/min
E 28 190 NL/min

-]

RE EfEDe D1 L1 L2 L3 CH g 42
48 06 06 6 32 16 45 49 15 30
480808 8 32 16 46 50 15 315

FHEE - AL =m

XL RE B AT R R AT A RNBIER (FF/5% )  A-BRM=8@M The MV 48is a pneumatic switch. It is available in a 2/2 and 3/2-way version. The goal of the
o, BUEA=ER , BRT AT RIS, E A EITHES, 2/2 way switch is to cut off the flow in the circuit whenever needed by simply operating the
lever.
The 3/2 way valve cuts off the flow and vents to atmosphere the terminal part of the circuit.

AR DATA SHEET

BIVMEEER . Recommended tubings:

PA11, PA12, PA6, PUREEE(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A).

N A : Application field:
EREAS T ENEBLENSHRE, pneumatic installations fed with filtered, lubricated air.

289



Pressure Control

XN BE B E
Body Spring Seals
FRFEMUNI EN 12164 CW6E14N AIS| 3027554 NBR
Brass UNI EN 12164 CW614N Nickel plated Stainless Steel AlSI 302 NBR

A i

0°C-70°C 0-10 bar 0-8bar

L3

CH

L2

L1

D1

Sy

E“:EFRE@

= (P1,P2)
VENTING (P1-P2)

E _
Flow rate (6 bar - Ap = 1bar)
out out 1/8 205 NL/min
1 <P2) P1 P2 1/4 290 NL/min
IN(P1) IN(P1)
R D1 L1 L2 Lagkx CH g&d
470018 G1/8 6 155 56 15 33
470014 G1/4 8 185 63 17 55

REGSHERP , TETAMERRENIRED , KNBERSATEE When installed in a pneumatic circuit, the pressure control sets the working pressure of all the
Eo AIMMESHNEHEzZBNTSET , BREDEREIISIEER connected components. The pressure adjustment will be thereby kept steady for a long time.

BEEERE , R ETEERR,

BARMIE

BWAERER
BRTENRREMNELER,
MASHE :

ERETTRAEBLEN S RE,

It can also be used as an economizer when connected between the valve and the cylinder to
operate. Pressure is being saved and rod speed decreased in the desired direction. A big energy
saving is this way obtained.

DATA SHEET

Recommended tubings:
according to the fitting connected to the pressure control.

Application field:
pneumatic installations fed with filtered, lubricated air.

290



miEshiEk Slow Starter

Ak ] ¥ BB B2 B
Body Needle Spring Seals Banjo Ring Gasket

HEREAUNI EN 12164 CW614N AIS| 302F4554% NBR-PU R ERUNI EN 12165 CWE17N PA6
Brass UNI EN 12164 CW614N Nickel plated Stainless Steel AIS| 302 NBR-PU Brass UNIEN 12165 CW617N Nickel plated ~ PAG
P1
NEEREA
3
GCM
0°C-70°C 3-10bar
P[bar]
FMV 50
P=2BP1 | - - - ——— -~ _
EMV 50 TR -
i Flow rate (6 bar - Ap = 1bar)
i MV50 1/4 1040 NL/min
MV50 3/8 1900 NL/min
0 MV50 1/2 2570 NL/min
T T
t[S]
| —— — U
RE D1 D2 L1 L2 L3 CH g 42
50 00 14 G1/4 G1/4 6.5 17 66 20 99
o CH 50 00 38 G3/8 G3/8 9 21 715 20 128
500012 G1/2 G1/2 10 245 745 25 185
b f~

L2

XMINREKREB N REZHEE  BE A CEL RN REERANEZE
SRR EF= S PATIBKE M. BUBEIEKh AP ES SR TR LUMIR G
KNERITT |, BRREDSIARBET , NIERATIEZEF2E THEMUE ,
BB S ZR R, B8 E 0 b AR EUR T £ BIBESS « AT 4 R BE A B RA
AU R E D PR AR,

BRI

EIENERER

HURT SRMEMELEE,
BRI,

T RATTEAEBLEG SRS,

This fitting allows for a progressive pressurization of the installation and prevents the actua-
tors from being hit hard in case of sudden pressure feeding of the previously vented circuit.
Depending on the desired spindle setting, the Slow Start Fitting will open gradually, pressure
will progressively flow into the circuit and the actuators will go back to their working position
without being hit. Pressure feeding speed is indeed determined by the rotation of the spindle.
If turned clockwise, a very smooth pressurization will be achieved.

DATA SHEET

Recommended tubings:
according to the fitting connected to the valve.

Application field:
pneumatic installations fed with filtered, lubricated air.

291




R4k

Threshold Sensor

Ak B PRIFEEL

Body Seals Push-in fittings
R EMUNI EN 12164 CW6B14N NBR-PU MARFI R HEX
Brass UNIEN 12164 CW614N Nickel plated NBR-PU MA line push-in fittings

3 0.3
4 0.5
0°C-70°C 0-10 bar 5 0.65
T/EE (bar) 6 09 FEEER (bar)
Working pressure (bar) 7 1 Switching pressure (bar)
8 1.2
9 14
10 1.6
WA
A
3 . BE
Wtk WA W& WA (P) e
n (P) (P)
STEP 1 STEP 2 STEP 3
‘ L4
D3
|| TIr 8l el D1 D2 D3 L1 L2 L3 L4 CHt1  CH2 g 42
CH2 1 i
o T | 520018 G1/8 4 G1/8 5 1 295 38 13 16 69
. — . 520014 G4 4 Gli/4 65 13 33 40 16 16 79
. 520038 G384 Gy8 7 13 33 ) 20 20 98
D1
ZIhEEIESKEB RN BIE L T , HESTELE —EEN , mHEELES, Threshold sensor can detect a pressure drop and signal it with a command signal (s). This
BEEREESELER , XOUBEREES , HEEEHITERKRN |, E component turns out to be especially useful when assembled directly on the cylinder. When the
HESEHEAEEHNRRD , FEEREMERN , BUFXTEER. piston completes its stroke ( no more counter pressure available in the cylinder ), a command
ZEINTIERIERTHBSES KM, signal is given out to a direction valve to have the piston change the stroke. Sole condition
required for perfect component performance is that the piston has to complete its stroke. No
intermediate positions are allowed. Major advantage of this component is to command the
piston stroke changes without electrical connections
FARME DATA SHEET
BIEEER Recommended tubings:
BURT SRMEER L RE, according to the fitting connected to the valve.
AU ) Application field:
ERA T EREBLENSHRE. pneumatic installations fed with filtered, lubricated air.

292



R Stop Fitting

NN [F:S BE BRI E RiEEEL
Body Valve Spring Seals Push-in fittings
4R EEMUNI EN 12164 CW6E14N AIS| 3027454 NBR MAZR B iR #E5k
Brass UNI EN 12164 CW614N Nickel plated Stainless Steel AISI 302 NBR MA line push-in fittings
\\EFHE@
3
™
-20°C-70°C 10 bar
n—. e (6 bar - Ap = 1bar)
Flow rate
1/8 365 NL/min
1/4 380 NL/min
B3] D1 D2 D3 L1 L2 CH g 42
5506 18 G1/8 6 (11815 ® 27 12 15
5506 14 G1/4 6 16 6.5 27 12 18
5508 18 G1/8 8 135 5 27.5 13 18
D3 5508 14 G1/4 8 16 6.5 275 13 21

L1

ZEARERILE  REYEASER  ABSE , FARASROSEH
% BITEREEN.

BARIIE
BIHERER
PA11, PA12, PA6. PUSREEE(98 Shore A)o

NASE :
ERATEREBLENSHRE.

This fitting is provided with a check valve that opens when inserting the tubing into the fitting.
Only then the air flow is allowed. Should the tube accidentally get released, the valve would
immediately close again and the air flow would stop.

DATA SHEET

Recommended tubings:
PA11, PA12, PAB, Polyurethane PU (98 Shore A)

Application field:
pneumatic installations fed with filtered, lubricated air.

293




HFE Y Air Mufflers
| [ . f{ | [ |

4K HAE R R E
Body Muffler Seals

MV11-FE HWEREHUNIEN 12164 CWE14N  AISI 304 T 454 0-12bar -10-70°C
Brass UNI EN 12164 CW614N Nickel plated  Stainless Steel AISI 304

MV11-FEP PA6 AIS| 304745 0-12bar -10-70°C
Stainless Steel AISI 304

MV11-PL POM 0-6bar -10-70°C
MV11-CO - MV11-CQ H4MUNI EN 12164 CW614N BB 0-12bar -10-70°C
Brass UNI EN 12164 CW614N Sintered b
MV11-BE - MV11-VE miereg bronze
MV11-P
MV14 FREMUNI EN 12164 CW614N BREEW NBR 0-10bar -10-70°C
Brass UNI EN 12164 CW614N Nickel plated  Sintered bronze NBR
6 barff IR &K ¥ HEEE
Noise level at 6 bar Filtration threshold
Eil] 118 1/4 3/8 12 eS|
MV11 -FE 74dB  72dB  88dB  90dB MV11 -FE 100-200 pm
MV11 -FEP 74dB  72dB  88dB  90dB MV11 -FEP 100-200 um
MV11 -CO 70dB  67dB  77dB  80dB MV11 -CO 35 pm
MV11 -CQ 70dB  67dB  77dB  80dB MV11 -CQ 35 um
MV11 -BE 75dB 81dB  82dB  85dB MV11 -BE 35 um
MV11 -P 72dB  73dB  84dB  88dB MV11 -P 80 um
MV11 -PL 87dB  84dB  90dB  90dB MV11 -PL -
MV11 -VE 72dB  73dB  84dB  88dB MV11 -VE 80 um
BEi-THPEZES Air Muffler with Stainless Steel Wire
% E3il] D1 L1 L2 CH g &0
CH
o 1100 18-FE G1/8 6 15 13 6
:[ \ \ 1100 14-FE 614 7 18 16 10
o 11 00 38-FE G3/8 8 20 19 16
1100 12-FE G1/2 10 22 24 25
BX-THMHEE Air Muffler with Stainless Steel Wire
% el D1 L1 L2 CH g 52
C
o 1100 18-FEP G186 15 13 15
:] | | 1100 14-FEP G1/4 7 18 16 3
11 00 38-FEP G3/8 8 20 19 4
Lo 1100 12-FEP G2 10 2 2% 7
REERE S Sintered Bronze Air Muffler
EFidl D1 L1 L2 g &0
N 11 00 M5-CO M5x08 45 13 15
- 110018-CO G1/8 6 21 8
SJ ‘ 1100 14-CO G1/4 6 25 16
1100 38-CO G3/8 8 36 22
D1 1100 12-CO G1/2 10 43 49

294



REFEES Sintered Bronze Air Muffler
CH
-
RE D1 L1 L2 CH g 62
N 11 00 18-CQ G1/8 6 21 7 8

1100 14-CQ G4 6 25 8 14

- 11 00 38-CQ Gy8 8 38 10 2

o 1100 12-CQ G2 10 43 14 62

REBFEES Sintered Bronze Air Muffler
il D1 L1 L2 CH g8
5 11 00 M5-BE M5x08 4 17 8 25
o 1100 18-BE G/8 6 29 13 g
‘ 11 00 14-BE Gys 7 2 16 16
:I T 1100 38-BE Gy 8 40 19 %
- 1100 12-BE G2 9 45 2% 47
HER Flat Muffler
5@ i D1 L1 962
110018-P G185 15
1100 14-P G4 6 35
= 11 00 38-P G387 3
1100 12-P G2 8 1
MV 11-PL
BRIHZ R Plastic Ball Muffler
J‘.v\
== el D1 D2 L1 L2 g6
== 110018-PL G815 6 325 15
B | Bt 1100 14-PL G1/4 195 8 43 9
TTET 11 00 38-PL G3/8 245 1 58 14
1100 12-PL G2 245 1 58 18
D1
D2
MEBERBITEE Exhaust Control with Sintered Bronze Air Muffler
B3] D1 L1 L3gx CH g8
N 1100 18-VE G186 28 13 16
= o 1100 14-VE G/s 8 2 15 2
11 00 38-VE G810 38 22 53
3[ | | =1 1100 12-VE Gz N | 2 59

D1

L2

HHE SRS R Exhausting Control with Muffler
o
RE D1 L1 L3k CH g 6D
14 00 M5 M5x0.8 4 25 8 6
140018 G1/8 5 32 14 28
140014 G1/4 6.5 40 17 52
_I ‘ ‘ J 1400 38 G3/8 7 50 20 90

D1

295



> Ball Valves

MV24 - MV25 &4 Eﬁ m\ m BREBORA BHE

Body Cartridge Ball Stem  Ball seat oring Seals Handle

FE4AUNI EN 12165 CW6B17N4EEE AR HEHUNI EN 12164 CW614N P.T.F.E NBR ABS

Brass UNI EN 12165 CW617N Chrome plated Brass UNI EN 12164 CW614N Nickel plated PTFE NBR ABS
—_____—
MV53 - MV54 AAE KT H o BREOHIF R E

Body Ball Stem  Ball seatoring Seals Handle
FE4HUNI EN 12164 CW614N FERFEMUNI EN 12164 CW614N P.T.FE NBR PA66
UNI EN 12165 CW617N4& 4% Brass UNI EN 12164 CW614N Nickel plated PTRE NBR PAB6

Brass UNIEN 12164 CW614N
UNIEN 12165 CW617N Chrome plated

“EFRQ
-20°C - 90°C 0-10 bar
1 J
"
R Application fields:
S, BEMBERS. Pneumatic, hydraulic and oleodynamic circuits.

296



PRS- IR SUEK 1R Ball Valve, female
e D1 L1 L2 L3 L4 CH g 62
13 240018 G1/8 8 39 205 29 20 107
240014 G/a 10 39 205 29 20 97
240038 G338 10 42 205 29 20 86
240012 G2 105 47 205 31 2 128
9
L1
L2
SRS - IR LUER IR Ball Valve, male
5 Bt D1 L1 L2 L3 L4 CH g &0
250018 G1/8 8 39 205 29 20 86
250014 G1/4 10 39 205 29 20 82
2500 38 G3/8 10 42 205 29 20 79
= 250012 G2 105 47 205 31 2 120
5[ 5\ S
\
L1 L1
L2
PR L - IR SR 1 Ball Valve, female
13 Bt D1 D2 L1 L2 L3 L4 CH g &0
530018 G1/8 55 8 36.5 19 215 14 36.6
530014 G1/4 55 " 43 19 215 14 49
] 5 5300 38 G338 8 105 43 24 24 17 56
! 530012 G1/2 10 12 49 34 27 21 93.2
s ="=) b
| |
L1 d L1
L2
4 T2 HNR - IR UBR IR Ball Valve, taper Male-Female
Egi D1 D2 D3 L1 L2 L3 L4 Ls CH g 62
L 540018 RI/E 55 G1/8 8 8 355 19 215 14 344
5400 14 RI/4 55 G4 M 1 05 19 215 14 827
5400 38 R38 8 68 115 105 43 24 2 17 53
. 5400 12 RIZ 10 G1/2 15 12 50 34 27 21 895
5| & 7 T g8
L YV
u lcH L2
L3

297



W E D REL

Pressure Gauge Fitting

A4k 24 EAit PRIF$E K

Body Thread Gauge Push-in fittings
POM HFRFEHUNI EN 12164 CW6E14N ABS MBRZI R iE %
POM Brass UNI EN 12164 CW614N Nickel plated ABS MB line push-in fittings

Sl

i“:EFHE@

0°C-70°C 0-10 bar

D2

T |
S | CH
| oS
HREREL A I E E =l Al e sressmesmrs
Push-in version j_ s 5 L e Push-in/threaded version
L L
L2

Eiil E&Pe D1 D2 D3 L1 L2 L3 L4 CH g &b

51 06 06 6 32 23 - 15 45 38 - - 15

510618 6 32 23 G1/8 15 52 38 5 13 21

5106 14 6 32 23 G1/4 15 54 38 6.5 16 23

5108 08 8 32 23 - 15 46 39.5 - - 16

5108 18 8 32 23 G1/8 15 53 395 5 14 23

510814 8 3.2 23 G1/4 15 55 39.5 6.5 16 25
FEARME DATA SHEET
BUHEEER Recommended tubings:
PA11, PA12, PA6. PURZREE(98 Shore A) PA11, PA12, PAB, Polyurethane PU (98 Shore A)
BE : Accuracy:
4 4
R4, Application field:

ERENNIENEBLEN S RE.

pneumatic installations fed with filtered, lubricated air.

298





